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add sub inc dec and or not xor

call ret jmp cmp jz...

F1H % (eax ebx ecx edx esp ebp eip eflags cs ds ...)
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break(b)

il

run(r)

continue(c)

next(n)

ni: ALY

step(s) : HBHBA

siC4m# BN (7T LLE 2 $+ push ebp mov ebp,esp add esp xxh)
stack: FH#txF, tbin stack 20

x/i<n/flu> <addr> : % XEF 16 E KA 77t

1E XXX BT 45
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5 —ANRFE T (stack_frame.c), A% T :



#include <stdio.h>

int add(int a,int b){
int result = 0;
result = a+b;
return result;

}
int main(int argc,char *argv[])
{
int a = 0x41;
int b = 9x42;
int tmp = ©;
tmp = add(a,b);
printf("result = %d\n",tmp);
return 0;
}

G 1 <

gcc -g -o stack_frame stack_frame.c ##HERHRAER

AWK (TBhEFE LS, BWETHEEMEER)

gdb stack_frame

b main



("XDG_VTNR=7")

Ox1
ox0
@x1bidbe
0x1b1dbe
ox0
--> 0x1
(<main+17>: DWORD PTR [ebp-0x14],0x41)
1 0x286 (

B ss ws we ks ss ss ws ws

Ox8048416 <main+11l>

0x8048418 i

0x8048419 ,0x14

0x804841c i f HORD PTR [ebp-8x14],0x41
0x8048423 i 4>: DWORD PTR [ebp-8x167],0x42
0x804842a i g DWORD PTR [ebp-8xc],@x@
Ox8048431 i B esp,0x8

0x8048434 < g DWORD PTR [ebp-0x10]

0000 |

0004 | (" /homefhack4fun/Desktop/pwn/experiment/stack_frame")
0008 ("XDG_VTNR=T")

0012 _libc_csu_init+33>: lea eax,[ebx-0xf8])

0016 --> 0x0

0020 |
0024
0028 add esp,0x10)

Legend: , value

Breakpoint 1, main (argc=0x1, argv=0xbffffob4) at stack frame.c:7
int a = 0x41;
x/161 Seip
0x804841c <main+17=: mov DWORD PTR [ebp-8x14],0x41
0x8048423 i : mov DWORD PTR [ebp-8x10],0x42
0x804842a i : mov DWORD PTR [ebp-0xc],axe
0x8048431 i : sub esp,0x8
0x8048434 i : push  DWORD PTR [ebp-8x10]
0x8048437 : push DWORD PTR [ebp-0x14]
0x804843a <main+47>: call 0x8048465 <add=
0x804843f <main+52>: add esp,Bx10
0x8048442 <main+55>: mov DWORD PTR [ebp-0xc],eax
i sub esp,0x8
push DWORD PTR [ebp-8xc]
push 6x8048510
call 0x80482e0 <printf@plt=
0x8048455 <main+74>: add esp,Bx10
0x8048458 <main+77=>: mov eax,0x0
0x804845d <main+82>: mov ecx,DWORD PTR [ebp-0x4]
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: BxB83
: Bxe
--> 0x1

: Bx41 ('A')

--> 0x1b1dbo

--> Ox1b1db®

-—= --> QX0

B --> Bx2b76 ('v+')
(<add+27>: leave)

0x8048478 <add+19>:
0x804847a <add+21>:
0x804847d <add+24>:
0x8048480 <add+27>:
0x8048481 <add+28>:
0x8048482:
Ox8048484:
0x8048486:

0600 | ) ("v+")
0004 | --> 0x464c457f
00068 | 0x8000
ae12 | 0x83
--> Ox0
(<main+52=: add esp,0x18)
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eurm | & i

BERTsEresult

mainfiiebp{E
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PiTleaveti 45 (FH 2 Fmov esp,ebp pop ebp iXF), R AIREIHHE, ebptk E Rmainik i
ebp

B#iTretis 4 (MY T pop eip) , EEIFmaini F—%&H4T.



int add(int a,int b)i & i A AR EIFAE T35k H cdecl i F 75 ) B #0T 5)
1. ZEmaing

(MNEREEEANSHL:

push b

push a

(2)%¢ 3% 8] 3 bk AN AR %% [Fladd:

call add

BER A it T

- esp
addiREIHELE

addgy&#1(a)
addgy&£2(b)

=33 ebp

2 fEadd $+

(1R FEmaintk i it ebp:

push ebp

(2)7E maintk i ) L T 22 S7.add ) B i -

mov ebp,esp

sub esp,0x10 ; PR —B A, RTETREERELSHRAE, BN HgRFESRE
(3) AT B FiE A

BRI A in



sich i - esp
FoR M HIREE
BEbzrgresult
w==— ecbp
mainififgebp/E
addfyiRElBHE
addfy£E41(a)
addfy8242(b)
=izl
(4)8H BBk M-
leave (mov esp,ebp pop ebp)
zsiiel i
TR MRS
EEfZEEresult
maintiifJebp{E e .
g ——— P
addfgR[a[bE b “
addfy2£41(a)
addry5£22(b)
we=y ebp
(5)i& [H] -

ret (¥ 24 F pop eip, X — &4 iR Bl Hbht MR BEHUH)
3.8 B main ki #

(BT HERR T (RE maintkbii+ FHesplE) :

add esp,0x10

(2)4 ST
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zSiissl S = esp
ToR X RS

BEfEE

= cbp
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